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MANAGEMENT (PAPER—H)
,lime Allowed : Three Hours Waximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and

in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which

authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution tables are attached for necessary reference,

Attempts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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WTus—A / SECTION—A

1. (@) (i) @mﬁ?ﬁq%ﬁﬁﬁmmﬁswﬁmﬁmwwmaﬂ,w%ﬁmq

(b)

(c)

40% AT T ¢, GE0 fafier €, 35% Wohmor w6t & 3 e ol ¢ 25% warem
LA 8 | et feh 1 32 3 0-04 B, g ot 1 3R 006 3 o vt frfees ot g2
0-03 ? | T fet o Tl (31meqe) & anefeises v & At 7 srep 3 wp 32 078 et 2| e
AT TR, HL toa e forfies % g0 e & wsor ) Wi St srear £1 wieerd
HITH =hifsTC |

In a post office, three clerks were assigned to process incoming mail. The
first clerk, C,, processes 40%, the second clerk, C,, processes 35% and the
third clerk, C;, processes 25% of the mail. The first clerk has an error rate
of 0-04, the second clerk has an error rate of 0:06 and the third clerk has
an error rate of 0-03. A mail selected at random from a day’s output is
found to have an error. The Postmaster wishes to know the probability
that the mail was processed by the first, second or third clerk respectively.
Find the probabilities. -

(i) ERTgAT o A w9 e § 31 2 2 ofR wimgr fs Buw e 25 3 2| At S e
iaeraar #, frelt s wdun forg @, 7% wh-g@ =1 yREr w0 6 gareE £7

The odds that A speaks the truth is 3:2 and the odds that B speaks the
truth is 5: 3. In what percentage of cases are they likely to contradict each
other on an identical point?
sk el # 50 feneff #1 svdfwmm (X) # Tl w1, Yerw (V) § A W, wEEEw qefie
3Y -5X +180 =0 2| Yo & WitA TR 44 ¥ 3R rdumre § Tl 1 wewwn, weeed § e

%ww%%t%ﬁwmﬁﬁaﬁ?aﬁﬁqﬁﬁmﬁ%ﬁamamﬁ
HIH il |

There are 50 students in a class. The regression equation of marks in
Economics (X) on marks in Management (Y) is 3Y -5X +180 =0. The mean

marks in Management is 44 and the variance of marks in Economics is %th of

the variance of marks in Management. Find the mean marks in Economics and
the coefficient of correlation between marks in the two subjects.

T gl H1g FPOEAt &1 Iearel A 3R B o o st 21 welleh Seare % forg <) womwor sxgumit L
3R M T ¥ I A= Qal ¥ DA gt ¥ Wi ) E=eh s I9ery ¥ Seie A
T SIS 1 L U0 HTA & 2 W21 3R M T 1 92 i srravaeharl gl 81 IR B T T8
ol B0 & 0 L H 162 of M8 4 52 R amawrma @t ¥1 agam L A ey g @
6000 52 & Sefh Agam M # adt 10000 He ¥l 3 A & fou Faw g wfy g
¥ 350 2 3R 34 B % fag vl w#E € 5-00 %1 werdt gw Fad gans @1 st
=gl &1
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A light metal company manufactures two products A and B. Each product
must pass through two processing sections L and M. A good number of
machines are available in both the sections. One unit of product A requires
2 hours of processing time in L and 1 hour in M. One unit of product B
requires 1 hour of processing time in L and 4 hours in M. Total time available
in section L is 6000 hours whereas in section M, it is 10000 hours. The net
- profit for product A is ¥ 3-50 per unit and for product B is ¥ 5-00 per unit. The
company wishes to maximize the total net profit.

(i

(i@

d

(ii)

(ii)

T U s M e % vy # g ik

Formulate the problem as a linear programming problem.

i THTE Fet Faet gATh 7 TRehariero 3 arelt 39 Iered T -|Reht F arh il %
T A 319 W1 | AieW Hif)

Find the optimum production schedule that will maximize the total net
profit per week by graphical method or otherwise.

- fommn wrEfyoredt, St Fm=E DMAIC srEfgoredt & 6 s S 8, 3 T =10 w5
Ga | o ifstg |

Describe briefly each step of the six-sigma methodology popularly known
as DMAIC methodology.

wifeehr Toran e #, =1 % gru frreer 3 ot & g e & o @ e 27 Sl %
TR T 3R ot @ grr fer’ %%\Qmﬁwm@mmwﬁaﬁww
FH-FA | §7 |

In statistical quality control, what is the difference between ‘control by

variables’ and ‘control by attributes”? What are the most popularly used
control charts used for ‘control by variables’ and ‘control by attributes’?

ra‘-rzﬁ—anﬁ (JIT) Ferfemtor yorreft &, ‘el wob’ 2Trervash TTET <A1 Sedred O 1 qea S

I Hehd fore W 2aT 27 '

In Just In Time (JIT) manufacturing system, how does the ‘subsequent
process’ signal the ‘preceding process’ to produce the quantity required?

10

3+4+3=10

(e) TR BGR (e-aNMSA) FT M1 ¥7 FRIR Aidhgl ™A (EDI) @1 drm 27
: e-dMsy 3R EDI % 31a¥d ®1 87 e-a1isd i EDI & @1 «1v a1 57

What is an Electronic Business (e-commerce)? What is Electroni¢c Data
Interchange (EDI)? What are the elements of e-commerce and EDI? What are
the benefits of e-commerce and EDI?

10
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2. (a) Uk G FIEAR TR-gleR wERM Heee w1 fafwin or awl # wed {1 wd wo § Fhee
# Fart F TR Gl SIS B B T E; g SO H WA o e 6 gt i ageid ®
S 2 AR = A Y T S @ e S dum foRen S @ < = | Sl @
7o FFa s 2, G s & of wre R & ae de e s R e st @i, T e
ﬁ%ﬁ%%ﬁm@wwmw%,aﬁtaﬁqwﬁ%ﬁ%ﬁﬁﬁﬁsﬁmw%lm
£ yE s 1 Rde g 2, R aften o e T i e siemaand Feted &
SgER B &

A furniture company manufactures four-drawer filing cabinets in six stages. In
the first stage, the boards forming the walls of the cabinet are cut; in the
second stage, the front door panels are woodworked; in the third stage, the
boards are sanded and finished; in the fourth stage, the boards are cleaned,
stained and painted with a clear finish; in the fifth stage, the hardware for
pulls, runners and fittings is installed; and in the final stage, the cabinets are
assembled. Inspection occurs at each stage of the process, and the average
percentages of good quality units are as follows :

= 1 2 3 4 5 6
Stage

afea Torar #1 sitaa Sidviaar (%) 87 91 94 93 93 96
Average percentage of good quality (%) '

SRR 1 S wTaRE ST A fen s 3, R 300 s 1 e R
5| 3 AT 3 U GUR O S0 RIS ARl ) gesH e o fore fafmior s o S
1| wet ¥ FrgEr 3 el @ gee A, REl gd% e €9,00,000 o '

The cabinets are produced in weekly production runs with a product input of
300 units. The company later investigated the manufacturing process to
identify potential improvements that would improve quality. The company
identified two alternatives each costing ¥ 9,00,000 as follows :

fameq U GUR
Alternative Quuality improvement
1 = / Stage 2:96% = / Stage 4:97%
2 =0T [/ Stage 5:97% =X / Stage 6:98%

(i) mw%ﬁm,a&%mwéﬁﬁﬁ%wﬁmwwﬁaﬁmﬁﬁm

Determine the weekly p.roduct yield of good quality cabinets without
process improvement. ‘

A-RBRE-M-NXUB/35 : 4



(i) T T & s o % et e 7R At s

Which alternative will yield greatest increase in product of good quality
and why? -

(iti) V- Tt W S -y A s

‘Which alternative will be most cost-effective and why? 5+5+5=15

(b) o fafia fret (am efifg X, Yaﬂxz)aﬁmwﬁu&wm@m%mmﬁwm
wm%mwﬁwﬁmmﬁgﬁgﬁﬁa@ﬁwm%mww
Teig Ty Mo wfwe Fefafea o . : .

LThe determination of yields of three different varieties (say X, Y and Z) was

subject of a recent experiment. Different blocks chosen at random from a larger
group were used for this purpose. The data recorded were as follows :

e / Varieties X ¥ z
- @8 / Blocks
1 12 16 30
2 10 18
3 T 28 35
4 10 26 51

(i) 3 f-vR wffed sfwel o fvdwo Hif

Analyze the above two-way classified data.

(ii) QiR & 5% TR R Gel 3R el & wurmEt i whem it

Test for the effects of blocks and varieties at the 5% level of significance.

| (iii) Trufor it B w-w feed fm &, R 9% @ ) wn @l F ar oft 98 wen g 37

Determine which varieties differ, if any. Is it possible to do the same with
the blocks? : & : 9+6+5=20

fc) Tk det FEET Ff TR g Ry IR A e sitae e wfe ¥ R did o 9 a
@%Imﬁﬁ?660$ﬁ3ﬁa’fﬁﬁwﬁaﬂﬁvfa%m%tm:ﬁwm,%%@aﬁ?ﬂ%
| IHe6T Wil sfte 1 wIET 60% ¥ 1 AR W wfier Sfta wieh 3, @ 98 9 @ ¥ T w5
 for o fofeedl & @ = o ot 1wt 31 9% ot e % R o 1 B @ frem
eswaﬁﬁ%,ﬁ@m(aaam)ﬁstﬁmawwﬁﬁ%,m@anﬁa%ﬁwﬁq‘wmmgﬁ
%m,w%%&mﬁmaﬁzﬁ-aﬁmﬁﬁﬁm—ﬁﬁméw%lﬁﬁmﬁm:ﬁ%
a%n%mmﬁﬁﬁqm% ‘
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An oil company is considering a bid for a shale oil development contract to be
awarded by the Central Government. The company has decided to bid
& 660 crores. The company estimates that it-has a 60% chance of winning the
contract with this bid. If the firm wins the contract, it can choose one of the
three methods for getting the oil from shale. It can develop a new method for oil
extraction, use an existing (inefficient process), or subcontract the processing
out to a number of smaller companies once the shale has been excavated. The
results from these alternatives are given in the table below :

9T I T &
Develop new process

g rferesar g (€ St H)
QOutcomes Probability Profit € in crores)

T THerr 0-30 3,600

Great success .
et o 0-60 1,800
Moderate success
T 010 -600
Failure

AT A HT FEAAIT FAT

Use present process
2 Tk 0-50 1,800
Great success '

qT:LEﬁ £=teor e A 0-30 1,200
Moderate success

frgear 0-20 -240
Failure
39-FfagT a1
Subcontract
) el 100 1,500
) _ Moderate success
S TEE A MR wS B arE € 12 F0g 2l AR el St T amd ® @ 9w
& 180 Fie ¥ THANE TH A Iwfeuss Jem # fEm w

The cost of preparing the contract proposal is ¥ 12 crores. If the company does
not make a bid, it will invest in an alternative venture with a guaranteed profit
of ¥ 180 crores.

() T S R Selt T ETee?

Should the company make the bid?
(@) aR e, @ sew da Freado f few it A s =iy

If yes, what method for oil extraction should it adopt? 8+7=15
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3. (@) IR AT B3I CHA 90t ¥ gt <00 1t §| A F TF 3568 B BA 1 7 ok A
2 Il Q SgH SR S 8| Fedh 08 & A ww el wfmett ) enevawar ot &
PR e SR AT HA Dl T A S 2| A C % e vmet wefeiaR wfr it v s
ST AT S Bl 8| 91 B % T Shaet wefiflenon & smawssar a1t 21 3 A F e uw
Tarselt wishan Bl SRR Bt 1 A R woh § sar A % R e sere wna-gE
(MPS) A T %
Product A is assembled from two parts B and C. One unit of A is assembled
from 1 unit of B and 2 units of C. Each item requires one or more operations
and the lead time everywhere is assumed negligible. Part C requires first
machining operation followed by heat treatment. Part B requires only

machining operation. Product A requires an assembly operation. The Master
Production Schedule (MPS) for product A is given in the table below :

T 1 2 4 =3 4 5 6
Month :

39T A (3Tl A) 100 | 150 | 100 | 200 | 125 | 100
Product A (in units)

YA I g e At wrolt # framw o

The process time data is shown in the table below :

iz e F4 37 A F/TE (9 )
Operation Item Work center Standard time/unit (in hr)
10 c Teffaor 05 -
Machining
120 € FET ITER 2:0
Heat treatment
30 B ayfi-tentor , 10
Machining
40 A RS 05
Assembly -

(i) TOHF H R W, M WE GHA F AR R T R w6
What will you recommend as normal capacity at each work center?

(i) I 3TE A U 9= 1 3 W % T Yo ama € 5,000 7, 391 A ht fyfwtor s
¥ 2,000 s 5§ &1, 37 wfer gors it o mrergsh w@ i @ See o Y 20% g, @
Y Yy SR ArargE TEE A Al & S w1 e w % R, B TR sar
Ta-g= (MPS) it Rreife 617
If the setup cost to produce a batch of product A is ¥ 5,000, the
manufacturing cost of the product A is & 2,000 per unit and the inventory
holding cost per unit per year is 20% of the product cost, what Master

Production Schedule (MPS) will you recommend to minimize sum total of
setup and inventory holding costs?
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(i) mWﬁWWW-@[MPS)%Eﬁ@?{W,Wcﬁm‘wﬁaﬁw

- 87
Given the MPS in the table above, what is the schedule of gross

requirements of part C? : 5+10+5=20

(b) (i) Wwwﬁmﬁmmww%ﬁﬁﬁwwqﬁw%maqﬁwmaﬁ

- W%lmﬁﬁm@ﬁﬁwm%mﬁﬁ?ﬁ%m@hﬂn-gﬁﬁ%w
mm—mﬁ%-mmmm@%:ﬁ@ﬁwm%%mﬁﬁﬁﬁ%
%ma%,Wﬁaﬁﬁ%?ﬁwﬁﬁﬁ@mw%@ﬁﬁﬁmﬁﬁ?ﬁﬁﬁﬁaﬁmmw%,
W%W,Wm%mﬁmﬁﬁﬁ%?@ﬁm%ﬁt@mm@m%!
mmﬁﬁw%lmw%mmmaﬂtﬁwaﬁﬁﬁaﬁﬁ
FT SEARH BT 2

Forecast of demand for cakes made by a baking company needs to be
made with accuracy. The bakery markets cakes through a chain of food
stores. It has been experiencing over- and under-production due to
forecasting errors. The demand in dozens of cakes for the past four weeks
is shown in the table below. Cakes are made for sale on the following day,
for example, Monday’s cake production is for Tuesday’s sales and so on.
The bakery is closed on Saturday. So Friday’s production must satisfy
demand for both Saturday and Sunday : '

a7 4 WE TR 3 WEYES 2 HWIE Ued) 1 Tu7E vEe
Day 4 weeks ago 3 weeks ago 2 weeks ago 1 week ago
FER 2200 2400 2300 2400
Monday
AT 2000 2100 2200 2200
Tuesday
FUEm ; 2300 2400 2300 2500
Wednesday ' '
TR 1800 1900 1800 2000
Thursday .
T 1900 1800 2100 2000
Friday ‘
wRER + TER 2800 2700 3000 2900
Saturday + Sunday

THTE 1, VTG 2, WHIE 3 AR HHIE 4 61 % 9¢ 69T 0-40, 0-30, 0-20 3R 0-10 & wiRka
aﬂaawsﬁwmwﬁgq,ﬁwmm%ﬁm%%qmﬂa%qy@mwm?
Using a weighted average of 0-40, 0-30, 0-20 and 0-10 for week 1, week 2,

week 3 and week 4 ago respectively, what is the weighted average forecast:
for Monday of the current week? :

A-BRE-M-NXUB/35 : 8




(i) < g ot T € R A Ae I F Gugen! H wheEl £ Do a0 @ 2 Ak fes
HHTE o ToT sig |7 1 TEIgHT 22000 T 91 371 Faet 21000 T Y € area & 71 gd of,
a3 feufa o wgofienter Qo o = 0- 10 % WTe =eaih! wguien fafds i smme w1 gu ey
TwTE & T = qafgam g

The bakery also produces bread and is planning its purchases of
ingredients for bread production. If bread demand forecast for last week
had been 22000 loaves, and only 21000 loaves were actually demanded,
what would the forecast be for this week using exponential smoothing
method with smoothing coefficient o =0-10?

(i) SRIH 9T (if) T, af =1e] guTE & aredfass 7T 21500 91 ST &, @ o0 = 0+ 10 o ST
U =it mguie Y & g s v % R = gatgae dme :

In part (ii) above, if actual demand in current week turns out to be 21500,
what will be the forecast for the next week with exponential smoothing _
method, using a =0-10? 5+5+5=15,

() Xvzwe frsmeit e sRig 3, ) s el udt ofi fra-fra 20 3w g A & 9
T Frcen @ Yem o §1 XYZ 9y otk weew iR fissn-fmtn wen @1 st
21 o fiss A oSl @ o & forg, S 6 A= R woh § e w2, o w6 aew |
T HET FEA BT R

XYZ is famous for homemade pizzas which are crisp with thin crust and varied
toppings giving the pizzas fabulous tastes. XYZ is revamping its order
processing and pizza-making process. In order to deliver fresh pizza fast, six
work elements must be completed as shown in the table below :

oeE ' faraor geaiar g7 (e )
Element Description Precedence Time (in min)
A 3TTET T BT == 2:0
Receive order
B ' @ = A 1-0
Shape dough
e I AR wE A 20
Prepare toppings
D s g B, C 30
~ Assemble pizza
E fow 5% = D 30
Bake pizza
F Tt wamT E 3-0
' Deliver pizza

() wom % e gdafiar o s

Construct a precedence diagram for the process.

d-BRE-M-NXUB/35 9 [ P.T.O.



(i) ARt Rl (5:00 =AW A 1:00 5 T TF) 120 s &, ) WA o Tore <1s6 et
WW_IW%WWWWWW[

If the demand is 120 pizzas per night (5:00 pm to 1:00 am), compute the
cycle time for the process. Compute the lead time for the process.

(iti) ST IEd ) i o e RIwi o erfaeh =Aan we R g

What is the theoretical minimum number of workstations needed to
 achieve the required production?

(i) R 120 RisT Sere 0 SR T 5 A ST S Y o A (e SRR Y
QAT Y e FRiee =< Gt ® 87

How will you balance the production line to produce and deliver 120 pizzas

per night? What is the actual minimum number of workstations needed?
3+3+3+6-=15

4. (a) @qﬁrﬁeﬂWWLW%uﬁ@mﬁﬁﬁ@%nﬁmmémmm
%ﬁﬁﬁwﬁﬁﬁqﬁw%lmwﬁmﬁ@weﬁ@ﬂaﬁ%,mﬁﬁ@aﬁﬁééﬁ
%smm@t%aﬁa@ﬁﬁ%%lﬁmq&ﬁmaﬁﬁ@aﬁ%w,ﬁﬁﬁwm%
%qmnﬁwugﬁmmwém%lWLﬁ@mﬁ@ﬁaﬁm‘W%@w
ﬁmaﬁwwwa(ns&ms@wmmmmlﬁm%@
i@wmﬂﬁﬁmmﬁ%mmmaﬁm%ﬁ,m (3t e
mﬁ)ﬂmwﬁmmaﬂtﬁaﬁﬁﬁmmmmﬁmﬁﬁﬁﬂ
W'ﬁ,wmﬁWLﬁwm%m,wﬁmnﬁaﬂtmww
ﬁmﬁwﬁﬁnﬁ,ﬁamﬁzﬁﬁa@mﬁﬁmm%lm%m,%m
Syt & o el Scare et < Wt 3 TRoT 1 e § S o S §1 WL o fehl
fror e w W R, o of st Rwmit % wfifE & @y d5w W A WE
T 3 fore e i Y, wh o e % 5 9 e gq e el DSS #, wff
m%ﬁ%l%dﬁmwﬁﬁm%waﬁm—aﬁmwﬁm%aﬁWL%
aﬂgﬁﬁﬁﬁ%%ﬂgﬁ&ﬁﬁ%ﬁmﬁﬁaﬁm%ﬂ%l@a&wjmmmwm
WW,W@WW(CFFR)W%WWLﬁHﬁW
g far @ E 21 CPFR W % e WL I 3l 1 9w o &, i whim oF =il %
m@mmmﬁ‘:ﬂ‘g&ﬁ,aﬁ87%%98%33@@1%?4113@%%@?‘1%37&[&%
it # fy @ 80 WHE Jo THo e Al RrEl AT I % Y F TN H AR
£ T § WL 3 CPFR isd @ o @it yfisatell o geu ansfiend o forearia et

% fom dovlz ®1 s & @ el

An antiseptic mouthwash is one of the major products of WL Company.
Materials collected from eucalyptus farms are shipped to WL’s manufacturing

G-ER&—@—N}(GE)I 35 10



plants. The mouthwash is purchased by thousands of retail stores, some of
them are giants like Walmart and many are small. The manufacturing plant
must forecast the overall demand to avoid high inventories or shortages. WL
decided to use Demand Planning Decision Support System (DSS) from a
well-known vendor of IT software. Used with other products in the vendor’s
Supply Chain Planning Suite, the system analyzes manufacturing, distribution
and sales data against expected demand and business climate information to
help WL decide how much mouthwash (and other products) to produce and
distribute and how much each raw ingredient is needed. For example, the
model anticipates the impact of promotions or of a production line being down.
The sales and marketing people at WL meect monthly with employees in
finance, procurement and other departments. The groups enter the expected
demand for mouthwash into a Capacity Planning DSS supplied by another
firm. The system schedules the production of mouthwash in amounts needed
and generates electronic purchase orders for WL’s suppliers. The innovative
Collaborative Planning, Forecasting and Replenishment system (CPFR)
program launched a few years ago has led to supply chain excellence at WL.
During CPFR pilot, WL increased its products’ shelf fill rate—the extent to
which a store’s shelves are fully stocked—from 87% to 98%, earning the
company about US $ 8 million a year in additional sales or equivalent of a new
product launch. Later WL decided to use Internet to expand the CPFR program
to all its suppliers and retail partners.

(i) I Sae v (SCM) 2R 35 DSS % <t fa 5sR @ wrey 37

How are Supply Chain Management (SCM) and Enterprise DSS related?

(i) WL % Wit #, #in 3TEiseT DSS, & 3T DSS 31 CPFR 1 frd W 9f si@en
A 7 qiom Brar &7

In WL case, how do Demand Planning DSS, Capacity Planning DSS and
CPFR result in supply chain excellence?

(iii) s 9idt ERP 9om didt ERP @ forw wenrt firm 27

How is second generation ERP different from first generation ERP?

(iv) 0 wom didt ERP qRf Saan sman 1 o e i e s awdt 27 w0 i i ERP Y
T | e T Gahdl 27

~ Can first generation ERP help achieve supply chain excellence? Can
second generation ERP help do this? - S5x4=20

A-BRE-M-NXUB/35 ' 11 [ P.T.O.



(b) e Aciem & fore w aiew fEsgr At S61 F ares € &1 T6 F TTEE @ T2, TA
YR o AW 3T qd F Z A ]| UTEh, UTEh_SMEe, AW, Ul 3N B Tl ¥ UgEH W9 81
UEH & Th 91 Th ¥ U6 @ 8 Tohd ¢ | QA Sl TguW @il 9631, @ T6i (A a1
iZ) 3T AW F F Al AR ]| A5 F01 Q@ Geha &1 FHOT A T8N HOI_SME, HO_THR (g,
FR, FRE@) AR g0l & g f S B S B v S €1 sl i weEE
IME_AEE, ARALAH, 91 ¥ 2t ¥ @l IR eyt @ gefh g gl

Design a model for banking application. Banks have customers. Banks are
identified by a code, name and address of the main branch. Customers are
identified by cust_id, name, address and phone number. A customer can have
one or more bank accounts. Accounts are identified by an account number,
account type (savings or current) and a balance. Customers can avail loans.
Loans are identified by loan_id, loan_type (home, car, personal) . and an
- amount. Banks have branches. Branches are identified by Branch_ ID,
Branch_Name, Address. Accounts and loan are related to branches. '

(i) < H UgEE i)
Identify the entities.
(i) @ % offw Ty A Hif)
Find the relationship among the entities.
(iii) EEEY T HTEAfE A s
Show the cardinality ratio of the relationship.
fiv) W T F Foit I R A it i vEEE Y|
Identify the key attributes and other aftributes of each entity.
(v) TE SR ¥ e wErE A Rl |

Write relational scheme for branch and bank. 3x5=15

(c) (i) 3Aewst3NER TR i vy faftrt 3 am aarge | fegt @) faftt o1 faeamgdes st fifm)

Name three principal methods of creating database. Describe any two
- methods in detail,

(ii) TR T 3R e-aa & v - Bl e 57

What are the key differences between traditional commerce and
e-commerce?

(i) e-aTd % R T B2B WewH ¥ oTavas sfvme @ we Sl

Explain the required features of a B2B platform for e-commerce.
7+4+4=15
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(b)

(c)

@

(e)

©Yus—B [/ SECTION—B

FRER wHifG favewo & dwed § ‘gafy e’ @ w0 ared 27 ‘Seae '’ o ‘aem s’
foyeor sawm % fou dgfy ooy & o # forw wor weEe 2@ 87 ¥ few wew e
FRER & e’ @ afenfi w0 & ggEs g 87

In the context of business strategy analysis, what is ‘growth matrix’® How do
‘product scope’ and ‘market scope’ analysis help in developing the growth
matrix for a business? How do these help define ‘mission’ of a business?

sgeE wtEl (MNCs) stfadeft 3w =t #n-wn o ofe aifal agardt 82 sia sgudla
FE (MNC) 2R g et (TNC) & o9 e wor e ww 7
What are the advantages and disadvantages that Multinational Corporations

(MNCs) bring to a host country? How do you distinguish between MNC and
Transnational Corporation (TNC)?

wyferes Wit &1 fovawer @ J, st 6 9o Saen w1 fAvaun w0 Y ey Bt
27 forell e & wafors ae @1 favevn we w0t anavas dar 27 3 wfteguters wEifa &

Tufor 7 fFg TR wEEs B 27

In analyzing competitive strategy, what is the need to analyze the value chain
of a company? Why is it necessary to analyze the competitive forces in an
industry? How do these help in formulating competitive strategy?

srigh =R R, wm om f RE R TR ‘gerers e 6 RE 3 fe 87
it § e s & S 87 @i

In international trade theory, how is ‘theory of absolute advantage’ different
from ‘theory of comparative advantage’ Which of these is more preferred?
Why?

‘Fﬁaﬂ"rﬁr’wﬁmwmﬁ?wmwm%‘mm%?m%%w-w
Heequl w2 §7 '

What do you understand by the te'rm ‘public policy”? How is it classified? What
are the important elements of public policy?

Frefafied @ =t afen o 58 W i vl % S AT -

Read the case below and answer the questions based on it :

6l T g ABC &t Y o THo Qoﬁqm%ﬁwaﬁ,a}gsﬁwgf{-ﬁaﬁcﬁéﬁﬁaﬁl ,

3T SHP] I BT Tk AfFeeh Y aretl 3 et a9l 8, forehl 50 <3 # 17000 g8 31
1980 # Ft ¥ gergol fesey fvg gu wifieew 4, AfQEl H frwl, wid gegend, =m@l
3R 31 I % e e A gerTt g F o A o PR A A A 3w i

10

10

10

10

10
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Rt | e TR B & fore w3 st £ Fghe B, s athfia fea, s sfinfa
T iR 3t wfogfd it T & & =l o FR s sl @ off e fawew el
fafercelia @MW Wem fRU| 1995 #, o THo H 700 &M &1d gL oft, wroft 7 fodeft garmedt =0t
WIS 3 S o 20 T 1 @ged o | wegd w0 g fayge emsdidieon seen
AT FRET 98l WaW Hm, w4 e g ARt XYZ F @Y 50/50 3w 39N
TTud foman| wre | et 3 1 9IS go wo sfer FRw e, s f swew wem FDI e
ABC I S § 39 3rgaa #1 sfasfa a0 % frg, sl @ #§ go wdead wmrra
foru | STt R weret, Tt @ afifie W, w@il F feee yeel, s st &
T R forhed, 51 9t 1 39 ABC % Iigvid il wfeefa Q9IRS o1l 2006 @6 e %
ST # 600 ®R 9 ABC 3 ot # frean #t gome w9 @ 9l Wil 1998 # 3w 60 e
THA! ATl T Tt 6 S@en #1840 W@ Yo Weo Ter d wiE fomm| 1990 F wew &
IWY A 39t aEaH, =H, UEes, <Fies, S S K galm § €R 9l SuE 8§
HUATE T3 AgEHIE 3R o AftEl @ Wt R g, wert 3 @ el @) 9y Ssant @
qufcen &t areft erefiey smfiEt # afafda = o, R =ifie sro ey weed 6
Tl wmend off | 2002 7% FFE! 3 U F e, Soh ypeme oed 9 fm am
Ta FE % W WY I W A S | gHh avE A 9wt 9y 3™ fRY| 2006 § w3
U geq oEed I # @, el 3E go e To § AR el 991 W

Long ago ABC Company had a single store in USA selling premium roasted
coffee. Today it is a global roaster and retailer of coffee with over 17000 stores
in over 50 countries. In 1980, the company experimented with coffeechouse
format to sell the company’s premium roasted coffee and freshly brewed coffee
beverages along with a variety of pastries, coffee accessories, teas and other
products in tastefully designed coffeehouse setting. The company hired,
trained, motivated and compensated employees for superior customer service
giving stock option grants and medical benefits to even part-timers. In 1995,
with over 700 stores in US, the company explored foreign opportunities and
licensed its format in Japan. Realizing that pure licensing would not give it the
control needed, the company set up a 50/50 Joint Venture (JV) with a local
retailer XYZ. The company initially invested US $ 10 million, its first FDI. ABC
transferred some employees to the Japanese operation to replicate ABC’s
experience in Japan. Training of Japanese store managers, employees, design
parameters of the stores, stock options for Japanese employees were all meant
to replicate the ABC’s experience. By 2006, the company had 600 stores in
Japan. ABC continued with its overseas expansion aggressively. In 1998, it
purchased a British coffee chain with 60 retail outlets for US $ 84 million. In
late 1990s, it opened stores in Taiwan, China, Thailand, New Zealand, South

Korea and Malaysia. Starting initially with licensing and replication of other
practices followed in Japan, the company converted several of these into JVs or

wholly owned subsidiaries, partly due to funding problems of local partners. By
2002, the company expanded into Europe, beginning with a JV with largest
Swiss food service company. This was followed by JVs in other countries. In
2006, the company saw a major opportumty in China, which it believed to be
‘the largest outside USA.

A-BRE-M-NXUR/35 14



(i) T8 &R ABC w1 eigdsieor WHI | HigsT gai?

Why did ABC become disenchanted with licensing strategy?

(i) Wwwcwmm%wémwmﬁm%ﬁﬁ |

Why does ABC prefer to expand internationally through local joint
ventures? '

(iii) ABC % T wefiicelt o speafal wt 4geh Sewl o Wiead @ ae & 1 o 87

What are the advantages for ABC of entry through joint ventures over
owned subsidiaries?

(iv) foesft geeg faw (FDI) 1 wa-dt BRI, ABC 310 2199E 18 Sy foar writfa =1,
Tl g TIE HAT 37

Which theory of Foreign Direct Investment [FDI) best explains the .
international expansion strategy adopted by ABC? 8+8+7+7=30

(b) = 2004 #H, 19 Tz yow Faw (FDI) smrets # 3t fmfor & 24% =1 wror &=, afea
g M § FAA 0-6% HT HRIT 47| 39H =R F, 7 @ w0 7§ Brxht vw F@w (FDI)
IEtEl § (< H PIA-W o T el 87

In the year 2004, inward FDI accounted for some 24% of capital formation in
Ireland, but only 0-6% in Japan. What do you think explains the difference in
FDI inflows into the two countries? ' 10

(c) ¥a T ufEismT e o, vt s G S 8, afEiseret d, awor g iR wnTat
T i STfEAuT @I 8| 37 Afshavi & ol FH-8 Y@ & wR0l 54 &7 gefd 3 sifosAvn
% FIT WEHTH &7 '

Project management in India, in particular of projects in infrastructure sector,
has been characterized by severe time and cost overruns. What are the major
factors accounting for these overruns? Currently, what are the estimates of
these overruns? 10

7. (o) FrefafE 3w H oy o 8 ® sruia S % Iw AR -

Read the case below and answer the questions based on it :

T rgEsm fafmin wrel X % sw o § sy awaa ww A, e s s fafmif
o enfud foRm em| TUrn, g W, SR qed-aftfa sae ok AfE Y ofy o sga
afean e Wafd wardt & g fafmbar 3 o=y § e Fael & fo g veRAw ww & ofv v @
9% SR H gl Raenel a9 T, 39 aeeE R age f SR awh find e o # o
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SR 36 § @ sl ¥ geEe e S off| awad #, w6 sle W STEHh
wmaﬁaﬂgwml%ﬁmé@@mﬁmaﬂmm@ﬁwﬁmﬁ@ﬁmﬁ
mﬁﬁmﬁwm@mﬁagﬁ%wﬁw,%mﬁw%m%m
mﬁmmmﬁﬂmzw@ﬁm@&;wﬁmﬁwmaﬁtmﬁ
w%m%m%ﬁﬁmgﬁmﬁwﬁwwsﬂtr@wmmwﬁwﬁm%
ﬁ%ﬁwmmmmﬁﬁwqﬁmmaﬁlwﬁmﬁﬁﬂ%aﬁ
ﬁﬁm%wﬁﬁaﬁwwﬁammﬁﬁaﬁ@ﬁﬁﬁﬂ%%ﬁ&ﬁﬁ%mﬁ@WW
f@%ﬁmﬁlﬁgﬂﬁﬂé@ﬁﬁ%ﬁn@ﬂé@ﬁﬁlﬁmﬁﬁﬁmwmmﬁaﬁ%
mﬁmwmﬁ,gﬁwmaﬂ?@mﬁéﬁmwmﬁﬁlﬁwa@-a@
Wﬁ,ﬁwﬁm@nﬁmﬁﬁnﬁgﬁm&wﬁaﬁsﬁaﬁ?ﬁﬁmﬁm@ﬁ
Wwﬁaw@ﬁlﬁﬁmé@wﬁmﬁmﬁﬁ%ﬂﬂﬁmﬁlmﬁmﬁw@ﬁ
T vl R Raeft ok e € Wy Fo e feenfedt @ dta g ST TE W
o

An ice cream manufacturing company X had achieved remarkable success in
the State where the company had established its manufacturing plant. Driven
by the quality, easy availability, image of innovative value-added product and
packaging, and very good brand promotion efforts, the manufacturer gained
rapid recognitioﬁ for his products in the State and soon became the dominant
player in the market, even though the prices charged were higher than most of
the many competing brands in the State. In fact, the company’s brand had
become synonymous with the ice cream itself. Slowly the brand began gaining
popularity outside the State as well. While earlier the company sold the
product outside the State through select outlets, it was clear that there was
strong potential for the company to expand greatly outside the State and
eventually emerge as a national player. The company found that it could not
hope to cash in the growing popularity of the brand by just expanding
manufacturing facilities in the State and distributing the product on
nationwide basis. Throughout the nation, there were numerous manufacturers
of ice cream, majority of them preferred to remain as local or regional players,
‘where they enjoyed good market positions. Very few brands had become truly
national brands. Companies that operated nationally offered generally
attractive prices, easy availability and convenience packaging. They had large
capacities, set up manufacturing facilities at a number of locations nationwide
and developed strong distribution and supply networks. They also invested
heavily in building brand image nationwide. All national players faced intense
competition from local/regional players as well as some niche players.

(@) e wrif ¥ g e ¥ o e T A gia bl ot

By what strategy did the company grow in its home State?
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(b)

(c)

(@)

(ii) mﬁmﬁ%%m%mwmwﬁwm%mﬁﬁwmﬁaﬁ@%wﬁm%
ﬁfﬁ,s@rﬁm‘rﬂﬁaﬁmﬁﬁﬂwﬁm%? ,

Can it compete nationally with the same strategy or will it need to modify
the strategy to emerge as a successful national player?

(iii) MXﬁwﬁ%ﬁﬁmﬁﬁ@ﬁmmﬁmﬁ%aﬁaﬁm A FAEY |

What are the distinguishing differences between company X strategy and

the strategy adopted by large national players? 7+7+6=20

I Y m’m%wm%?mmmmmﬁm%mmm-ﬂﬁw
S 3, qd G &b R/ SRl &7 G A IeHl (JSEs) % mH-3w @ fafim
TR 87 A % R0 JSE 1 -8 FHR I T WA I &6 Sl 6 F9
JETET A it |
What do you understand by the term 4oint sector’? What is the need for joint
sector when there are other well-defined sectors to promote industrial
development? What are the different types of Joint Sector Enterprises (JSEs)?
What type of JSE has been found to be suitable for India? Give some examples
of joint sector enterprises in India.

Wﬁmw%ﬁqﬁ@ﬁmﬁﬁwﬁwﬁmaﬁwﬁﬁﬁﬁwwﬁﬁﬁ
o ff ¥ veree § fFE YR weE 8 Py i wwealt 1 S A /Y 9Rd & FrEsieh
ﬁmﬁgvﬁ%%ﬁﬁq—ﬂﬁmmwﬁ?_ :

Why is it necessary to have price and distribution controls of essential
commodities in India? How do these controls help manage demand and supply

of commodities? What problems do ‘controls’ cause? What are the key steps
taken to improve the public distribution in India?

@mﬁaﬁamwﬁgaﬂﬁﬂmaﬁnmﬁﬁmmwmaﬁmﬁm@m
%ﬁﬁmaﬁwwwmlﬁﬂmﬁﬁaﬁ,m@mﬁﬁwaﬁ%g@ﬁ
T % fore, wfafda w3 (st Teen T S <, anif) @, QO fR e wefdt T
m'ﬁmg@#mmw,ﬁnwmwmm afr frepm = & fog
@Wﬂwaﬁ%ﬁ%mﬁqﬁaﬁwaﬁ%ﬁmmssmﬁqmmﬁ
WW%%%@W,&&EW?Q@%WWWWW@#W@W
ﬁmﬁmwm,mm%m?ﬁqummﬁﬂ,m:w
w,mwmmzﬁmmlﬁﬁmﬁﬁamm#ﬁ%ﬁqwﬁ:

15

15
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A textile mill was inspected by government safety inspection team and found to
be in violation of a number of safety regulations. The inspectors ordered the
mill to alter some existing machinery to make it safer (i.e., add safety guards,
etc.); purchase some new machinery to replace older, dangerous machinery;
-and relocate some machinery to make safer passages and unobstructed
entrances and exits. The mill was given only 35 weeks to make the changes. If
the changes were not made by then, the mill would be fined ¥ 2 crores. The mill
determined the activities to be completed, prepared three time estimates for
each activity namely : pessimistic time, optimistic time and most likely time.
Table below gives the data compiled by the mill :

FIdHTT farao FHeTT (gl Qe ) wog Yree (96TE )
Activity Description Activity (immediate Time estimates (in weeks)
. prgdecessor ) . o b
1 ¢ Wil = e S = 1 2 3
Order new machinery
2 @ i T S s - 2 5 8
Plan new physical layout ‘
3 e a1 R w& — ‘ 1 3 5
Determine safety changes
4 IR Y] AT ' 1 4 10 25
Receive equipment
5 T el i aen 1 3 7 12
Hire new employees
6 WA T HAT 2 10 15 25
Make plant alterations
7 feremm maftd 7 sRema @ _ 3 5 9 14
. Make changes in existing
machinery
8 T =it 6 e 3 4, 5 2 3 7
Train new employees '
9 7§ weftd T e 4,5, 6 1 4 6
Install new machinery _
10 oo il umraRE B 4,5,6, 7 2 5 10
Relocate old machinery ‘
11 e guen Afges weia 8,9, 10 2 2 2
Conduct employee safety
orientation
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(i) qfcierT ) e st faion ST
Determine the expected duration of the project.
(i) i i I FRFET] Bl TEE i
" Identify the critical activities in the project.

(iii) ﬁam?zwﬁsgqmammm,sﬂaﬁﬁuﬁww%? -
What is the probability that the mill will be fined T2 crores? 10+5+ 10=25

(b) wﬁﬁq%ﬁ%AmB%wm@mw%,mﬁwmmﬁam% '
mmﬁmmw%lwﬁwﬁw%ﬁzoosmw%iéﬂAﬁ 1A
YT Fe1 w & Tl 1omﬁﬁﬁlawﬁaaﬂﬁ%mzomzﬁrwm
%1%3%@1@%%@%%@40%@112:%331%@%:%110@1&1?
ﬁm%lwwﬁq%waﬂtwsﬁa@m%aﬂﬁwﬁ@%m%t

Assume two countries A and B have the same amount of resources which can
be used to produce either rice or cocoa. A total of 200 units of resources are
available. Country A needs 10 resources to produce 1 tonne of cocoa and
70 resources to produce 1 tonne of rice. Country B takes 40 resources to
produce 1 tonne of cocoa and 10 resources to produce 1 tonne of rice. Assume

a linear relationship between production and resources consumed.
() 3 A sk B R sTem-ore I G e (PPF) =1 Y@t w5

Draw the Production Possibility Frontier (PPF) for countries A and B
respectively. '

(ii) mﬁqﬁﬁm@-@i%wawﬁmaﬁ% aﬂtﬁsﬂﬂﬂﬂéﬁ%%a‘é’fﬂam
Sorerti I U T SUEEH B | A e R A e < 1 ZHEI T 1 2 o 1Y Ear-sae!
o HHd o m%aﬁaaﬂwﬁwaﬁﬁémw%lémA,%mBaﬁm% 6 = fata
W%ﬁﬁﬁﬁﬁ%ﬁﬂﬂ%ﬂéﬂ%lwm%mﬁﬁ%mﬁ
w%@mﬁ,ﬁ@ﬁwaﬂtmﬁm,wm%ﬂmﬁmmmaﬂt :
e I § m—mmwﬁm,wﬁw@mmgﬁaﬁmwwﬁaﬂqm?

Assume both countries engage in trade with each other and decide to
produce only that item in which they have absolute advantage. Assume

. they can swap 1 tonne of rice for 1 tonne of cocoa and the unit price of rice
and cocoa are equal. Country A exports 6 tonnes of cocoa to country B and
imports 6 tonnes of rice in return. What will be the change in combined
output of cocoa and rice of the two countries as a result of the trade,
compared to what would have been possible before specialization and
trade, with each country devoting half of its resources each to produce
cocoa and rice? 5+10=15
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-(c) T BT T & T ahEa 87 P # awfar @@ 87 Wi § el f o
P fafel w-7n @ 87 @ Few GRER @ feieo g e? ;

What do you understand by the term ‘privatization What is the rationale for
privatization? What have been various methods adopted for privatization in
India? Does ‘disinvestment’ alone constitute privatization? 10

* Kk K
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[ Values of t for given probabilities P =Prob. (|t|>tg) ]

TABLE-I

SIGNIFICANCE POINTS OF ¢

Probability (P)

Degrees of
freedom 010 005 0-02 0-01
1 631 1271 31-82 6366
2 2:92 4-30 6-97 993
3 2-35 318 4-54 584
4 213 278 375 4-60
5 2:02 2:57 3-37 403
6 1-94 2:45 314 371
7 1-90 2-37 3:00 350
8 1-86 231 2:90 336
9 183 2:26 2-82 3-25
10 1-81 223 276 317
11 1-80 220 2:72 311
12 178 2-18 268 3-06
13 1-77 216 2-65 301
14 176 215 2-62 298
15 175 213 2-60 2:95
16 175 212 2:58 2:92
17 1-74 211 257 2:90
18 173 2-10 2:55 2-88
19 173 2-09 2:54 2-86
20 1-73 2-09 2:53 2:85
21 172 208 2.52 2-83
22 1-72 207 2:51 2-82
23 171 2:07 2-50 2-81
24 171 206 2:49 280
25 171 2-06 249 2-79
26 171 2:06 2-48 278
27 1-70 205 2-47 277
28 1-70 205 2-47 276
29 1-70 2-05 2-46 276
30 1-70 2:04 246 275
A-BRE-M-NHXUB/35 2
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TABLE-II
SIGNIFICANCE POINTS OF F
( 5% values )

Degrees of freedom ()

Degrees of

Jfreetion gl 1 2 3 4 5 6 7 8 . 9 o
1 16140 199-50 21570 224-60 23020 234-00 236:80 23890 24050 254-30
2 1851 1900 1916 1925 1930 1933 19:35 1937 19:38 19-50
3 10-13 955 9-28 9-12 9-01 8-94 8:89 8:85 8:81 8:53
4 771 654 659 639 6:26 616 609 6-:04 6-00 563
5 661 579 541 5-19 5:05 495 488 4-82 477 4-36

6 5-99 5:14 476 - 453 4-39 428 401 4-15 4-10 367
7 559 474 4-35 412 3:97 38 3-79 373 3:68 323
8 5:32 446 407 3:84 3-69 358 350 3:44 3:39 2-93
9 512 426 3-86 3:63 3:48 3-37 329 323 3-18 27L

10 496 410 371 3:48 3-33 3-22 314 307 3-02 2-54
11 4-84 398 3-59 3-36 3-20 3-:09 301 295 2-:90 2-40
12 475 388 3:49 326 311 300 291 2-85 2-80 2:30
13 4-67 3:80 341 3-18 3-:02 292 2:83 2577 271 2:21
14 460 374 334 3:11 2:96 2-85 2:76 2:70 265 2-13
15 454 368 3:29 3:06 2-90 279 2:71 2-64 2-59 2:07
16 449  3-63 324 3-01 2-:85 274 2:66 2:59 2-:54 2:01
17 445 359 3-20 2:96 2:81 270 2-61 2:55 2-49 1-96
18 441 355 3-16 2:93 27T 2:66 2:58 2:51 246 1-92
19 4-38 3-52 313 2-90 274 263 2-54 2-48 2-42 1-88
20 - ; 4-35 349 3-10 2-87 2:71 2:60 2:51 2:45 2-39 1-84
30 4-17  3-32 2:92 2:69 2-53 2-42 2-33 2:27 2:21 1-62
oo : 3:84¢ 3-00 2:60 2:37 221 210 2:01 1-94 1-88 1-00
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TABLE-II (Contd.)
SIGNIFICANCE POINTS OF F

( 1% values )
Degrees of Degrees of freedom (n;)

Jfreedom. (ny) 1 2 3 4 5 6 7 8 9 o
1 4052 4999 5403 5625 5764 5859 5928 5981 6022 6366
2 98:50 9900 9917 9925 9930 9933 99:36 9937 9939 99-50

5 O 34-12 30-82 2946 2871 2824 2791 27-67 2749 2735 2613
4 21'20 1800 1669 1598 1552 1521 14-98 1480 1466 1346
5 1626 1327 12:06 11-39 1097 1067 1046 1029 10-16 9-02
6 13-75 10-92 978 9-15 8-75. 8-47 826 8-10 798 688
7 12:25 9-55 845 7:85 746 719 6-99 684 6-72 565
8 11-26 8-65 7-59 7-01 663 6-37 6-18 603 591 4-86
9 10-56 8-02 699 6-42 6-06 580 561 547 5:35 4-31 -
10 10-04 7-56 6:55 5:99 564 5-39 5-20 506 4-94 3:91
Lt 9-65 721 622 567 532 5:07 4-89 474 463 360
12 9-33 693 595 5-41 506 4-82 4-64 4-50 4-39 3-36

13l 9-07 670 574 521 486 4-62 4-44 4-30 4-19 317
14 886 651 5-56 504 4-69 4:46 428 4-14 4-03 3-00
15 8-68 6:36 542 4-89 4:56 4-32 4-14 400 3-89 2-87
16 853 623 5-29 4-77 4-44 4-20 4-03 3-89 3-78 275
17 8:40 6-11 518 4-67 4-34 4-10 3-93 3-79 368 2-65
18 8-29 6:01 5-09 4-58 425 4-01 3-84 371 3-60 2:57
19 818 593 5:01 4-50 4'17 3-94 37T 3-63 352 2-49
20 810 5'85 4-94 443 - 410 387 3-70 3:56 346 2-42
30 7-56 539 4-51 4-02 370 347 3-:30 3-17 3-:07 201
oo 6:63 4-61 378 332 302 2:80 2-64 2-51 2-41 1-00
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